
Page 1 of 4

Install Instructions 

PRP Seats

Honda Talon 1000X/1000R

Seat Installation

Read through all of the instructions completely before 

beginning the install.

Parts Included:

A. 2 - Driver Side Brackets
B. 2 - Passenger Side Brackets
C. 2 - 5th Point/Sub-Strap Mounting Brackets (Driver/Passenger)
D. 8 - 1/4 x 20mm Bolts
E. 8 - Lock Washers
F. 8 - Flat Washers
G. 2 - M8 x 1.25 x 25mm Bolts
 
Remove all parts from the box and unwrap completely using 

the packaging to lay out the pieces.

Tools Needed: (not included)

Flat Head Screw Driver

7/16” Wrench & Socket

12mm Wrench & Socket

13mm Wrench or Socket

Box Cutter or Hacksaw Blade

Socket Extension

Time: 

Approx 30 minutes.

Parts

G.

D.

E.

F.

A.

B.

C.



PRP Seat Install Instructions for Honda Talon 1000X & 1000R

Page 2 of 4

1. Remove the bottom cushion from the 

stock seat by pulling the release handle. 

 

DRIVER SIDE SEAT INSTALLATION

2. Use a 12mm wrench or socket to 

remove the (4) nuts holding the stock 

seat frame to the slider mechanism. 

Then remove the seat frame from the 

vehicle.

3.  Place the PRP Driver Side Brackets onto 

the stock slider. The brackets should be 

oriented so that the angled section of 

the bracket is towards the front. Each 

bolt hole should line up with the bolts 

on the stock slider. (See Photo)

4. We have also included a plate to mount 

a harnesses 5th point/sub-strap. Place 

the longer (driver side) plate over the 

front bolt holes, with the tab facing 

forward.

5.  Re-attach the (4) stock nuts over all 

bolts, tighten them down using a 12mm 

wrench or socket.

6.  Make sure that both slider rails are 

all the way forward (so that the bolt 

holes on either side are even). Then 

take your PRP Seat and place it on top 

of the brackets. Use our supplied (4) 

1/4” x 20 Bolts, (4) Lock Washers, (4) 

Flat Washers to attach the seat to the 

bracket. Tighten by hand until you have 

all 4 inserted, then tighten completely 

with a 7/16” wrench or socket.

NOTE - 

 PRP’s XC and RS Seat can still be used 

with the Honda 3-point seat belt. PRP’s 

GT3, GTSE, and High Back seats require 

aftermarket harnesses. 

 PRP Seats sit farther forward and raised up 

in the front compared to stock, but overall 

head height remains the same.



PRP Seat Install Instructions for Honda Talon 1000X & 1000R

Page 3 of 4

1. Remove the bottom cushion from 

the stock seat by pulling the release 

handle. 

2. Remove the two plastic covers to 

access the factory seat bolts. Use a flat 

head screwdriver to remove the plastic 

pop-bolts.

3. Remove the (2) front bolts using a 

12mm wrench or socket, and the (2) 

factory rear nuts using a 12mm socket 

with extension.

4. Remove the stock seat from the 

vehicle.

5.  Remove your PRP Seat from the bag 

and place it upside down on a clean 

surface. 

6. Attach the Passenger Side Brackets to 

the bottom of the PRP Seat, using the 

supplied (4) 1/4” x 20 Bolts, (4) Lock 

Washers, (4) Flat Washers and 7/16” 

wrench or socket.  The brackets should 

be oriented with the legs at the rear, 

and L-shape bend towards the center. 

(See Photo).

7. NOTE - The Rear Inner Nut on the 

Passenger Side is hard to get to once 

the seat is installed. You can either use 

a long extension with a 12mm wobbly 

socket to access it from the top, or we 

have found it easier to trim the small 

peice of plastic directly behind the 

bolt to gain access through the engine 

bay. Use a box cutter or small hacksaw 

blade to cut this plastic section. (See 

Photo)

7.  Place the PRP Seat with brackets 

attached into the vehicle.

8. Place the shorter (passenger side) 5th 

point/sub-strap plate over the front 

bolt holes, with the tab facing forward.

PASSENGER SIDE SEAT INSTALLATION



PRP Seat Install Instructions for Honda Talon 1000X & 1000R

Page 4 of 4

9. We have supplied (2) M8 x 1.25 x 25mm 

bolts that are longer than the stock 

front bolts. Attach and tighten those 

(2) supplied bolts to the two front bolt 

holes using a 13mm wrench or socket. 

10. Then re-attach and tighten both stock 

nuts on the rear. You can access the 

rear-outside nut from the engine 

bay. There is a small triangle-shaped 

opening directly behind the bolt 

location that you can fit a 12mm 

wrench through. 

 

11. The rear-inside nut can also be 

accessed from the engine bay (if you 

cut the plastic piece in Step 7). Or you 

can use long extension with a 12mm 

wobbly socket to access it from the 

top (inside the vehicle).

12. You’re all done! 

Congratulations! Your new PRP Seats for 

your Honda Talon 1000X or 1000R are 

installed and ready to use.  

 

If you have any questions or experience 

issues, please contact your retail outlet 

first for assistance. However, the staff at 

PRP is always happy to help at 1-800-317-

6253. 

 

Thank you! Ride Safe!

  


